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R [& 11.3 Be 4 B AT H. 8 |H. 9 [L=530m 63,000

iR H 11.0 BhATTH H. 10 [ H. 11 |L=920m 172,820

kil e 15.0 P=FN:]] H. 10 [ H. 12 |L=681m 107,598

13 I 20.0 =N H. 10 | H. 12 [L=954m 127,884

E B & 21.0 RIS T H. 10 | H. 12 [L=2,001m 273,499

it b3 15.0 SR [ ET H. 10 | H. 12 [L=1,331m 103,710

B A 19.0 E_EHT H. 11 | H. 12 [L=783m 94,800

& * 18.0 BhHITTH H. 10 | H. 14 |[L=1,789m 240,512

= £ 12.0 E2RM™ H. 11 | H. 14 [L=1,662m 215,102

) i 18.0 B KET H. 11 | H. 14 |[L=1,089m 144,098

i 1] 13.0 BhAITTH H. 12 | H. 14 [L=1433m 176,044

o fi] 19.0 B RHT H. 12 [ H. 14 |[L=931m 134,048

/NI S S N 18.0 AR U ET H. 12 | H. 14 [L=1,189m 183,818

5 H % 17.0 = KHET H. 12 [H. 14 [L=1,001m 120,302

7 % 10.0 shETT H. 13 | H. 14 |L=504m 126,558

g1 F F 20.0 =l H. 13 [ H. 14 |L=1,139m 106,176

7K A 18.0 PRI ET H. 15 [ H. 16 |L=805m 123,820

X A & 21.0 shETT H. 15 | H. 17 [L=1,263m 125,720

) 24 18.0 BhRITT H. 15 [ H. 17 |L=9,150m 9,150

5 H % 17.0 BhAITTH H. 18 | H. 18 [L=19m 6,860

o Bl FR 75.0 BhREITTH H. 15 | H. 19 [L=2246m 293,360

- M F 17.0 2R H. 15 | H. 19 [L=1,454m 104,790

PN 7 21.0 76 H BN H. 17 | H. 19 [L=1,683m 203,830

b 2 H 23.0 R 5 T H. 20 | H. 23 |L=994m 139,357

i % &G 11.0 2A™ H. 20 | H. 24 |[L=1,196m 100,534

M e 21.0 i B EH H. 22 | H. 24 [L=989m 127,898

5 42 #h K 746.7 L=55,719m 6,468,188




OETHR—ER(FRH2IEEEFTOETHX) (B FM)
| =22 | R EZ|SHEEW|(ZSHEFHNE)| B EH N [BIFEXTEE =228 | = %22 |
i g % H 74.7 SR EHT S. 41 | S. 44 |747ha 76,908
N 4 O v ME O F 60.5 2 BT S. 43 | S. 46 |60.5ha 124,348
XARF 66.9 A KET S. 44 | S. 48 |66.9ha 136,960

O F 67.2 2aTH S. 45| S. 54 |67.2ha 776,774

= £ 62.6 2R, JRREHET S. 48 | S. 54 [62.6ha 564,500

&t 5 #h X 3319 331.9ha 1,679,490
f%**%_{ﬁﬁﬁgffﬁ s R 43.3 2R S. 57 |H. 2 |433ha 1,042,000
it 1 # K 433 43.3ha 1,042,000

Bl # i E FIX K F 103.2 2 BT S. 44 |S. 57 |L=6912m 242,679
( B B H)E £ FF 80.0 T HT S. 44 |S. 62 |L=8691m 324,538
E # 31.7 ol SEN) S. 46 | S. 48 |L=9,246m 87,330

F f1 R 136.0 E2RmH S. 50 | S. 56 |L=6,466m 191,353

H B F 130.0 2rH S. 52 | S. 54 |L=1299m 35,407

B O F 79.0 2R, FEE S. 53 |S. 60 |L=3300m 134,523

AKEEZE2 (103.2) FEHET H. 3 | H. L=2,342m 236,000

EXFFEE2 101.0 T HT H. 4 | H. L=3,084m 241,000

&t 8 i K 660.9 L=41,340m 1,492,830

B o # B R & F 31.7 Fe~ BE At S. 50 | S. 50 |L=251m 4,500
( & # HIH & TF 130.0 2amH S. 50 [ S. 51 [L=2798m 16,150
E B R 37.8 2am™ S. 51 |S. 51 |[L=523m 10,800

+r wm & 131.0 NI S. 52 | S. 52 |L=603m 9,500

X KX ¥ 130.2 TEHET S. 53 |S. 54 |L=1562m 29,700

=& E B 57.9 EEHET S. 53 |S. 53 |L=1,159m 13,800

E o FFE 80.0 Sok=y:) S. 55 |S. 56 |L=1,700m 23,500

+ @m R 49.0 shAETT S. 55 |S. 57 |L=3460m 35,900

X = 51.8 BhATTH S. 56 | S. 56 |[L=525m 8,100

;O | - 184.2 2Rt H. 2 |H. 5 |L=4,000m 113,000

i 10 #1 X 883.6 L=16,581m 264,950

E O B &/ HFH 86.2 2xrmH S. 53 |S. 63 |86.2ha 1,293,999
5 1 i K 86.2 86.2ha 1,293,999

Iz B 2 HBFENER 663.5 1,171 |EEHT S. 38| S. 46 |663.5ha 601,810
£E=ZE AR 3176 1,324 |G S. 41 | S. 45 |317.6ha 246,978

i 5 389.9 823 [5hATH . M B4 S. 43 | S. 48 |389.9ha 631,580

X OB 729.7 1,476 |3hair. Kf2Er. B LB, FHAT | S. 44 | S. 53 |730.0ha 1,566,000

£ _R A 300.2 519 |BAT™ S. 44 | S. 48 |300.2ha 267,000

iR fiE] 485.0 633 |;R T S. 44 | S. 49 [4850ha 697,000

BT B # E 458.9 832 |ELHET, FHEHE S. 45 | S. 51 |458.9ha 861,000

FHMWEAR 2725 393 |BRAE™. BN S. 46 | S. 51 |272.5ha 694,000

H i 557.5 1,349 [BAT™ S. 46 | S. 54 |557.5ha 1,764,000

BB R A 4154 724 |;R[EET S. 47 | S. 55 |415.4ha 1,583,000

== L 486.6 1,108 [B2E™. ELET, FEHET | S. 48 | S. 53 [486.6ha 2,015,015

i m 288.0 624 |BhREIT S. 49 [ S. 63 |288.0ha 2,422,995

) E R 675.0 1,277 |BhAET™ . KESET S. 49 |H. 37t |675.0ha 4,652,000

=) # 328.0 579 |BhRITTH S. 49 | H. T [328.0ha 2,406,000

+ Il & 5 316.7 377 [RMEET, EHE+ . ARHNET | S. 52 | H. T [316.7ha 2,506,000

PN n 76.0 237 |BhATT S. 59 [H. 3 |76.0ha 770,000

H & £ 102.4 179 |HEEEH H. 6 | H. 12 [102.4ha 1,838,800

g8 £ W 91.9 105 |EH&4T H. 9 |H. 15 |91.9ha 1,610,000

B i 36.3 76 |BARITH H. 10 | H. 15 [34.3ha 408,000

BEfMEBEH 98.8 151 | RIS T . ARAIDET H. 10 | H. 16 [98.8ha 1,433,000

A = 31.3 68 e~ R+t H. 10 | H. 16 [31.3ha 749,000

1 £E 76.9 102 |F . BRUEET H. 11 | H. 18 |73.0ha 1,343,000

7K R 45.4 69 |FRIEET H. 14 | H. 18 |45.3ha 523,000

g 2 R B 63.6 127 |RhRIT H. 14 | H. 19 |54.4ha 773,000

"t 25 #h X 7,352.8 14,366 7,292 2ha 32,362,178

“ g % %ﬁ B R 107.0 683 |[EAT™. ELHET S. 61 [ H. 3 |/Ki21,759.3mith 328,789
RERI2H 312.0 653 |BAH. ELHT, FEHET |S. 63 |H. 8 [/Ki#&56538.0mfith 1,143,500

) — 125.0 236 |FEHT H. 5 |H. 9 [/K#&33,090.0mith 793,500

i} H 145.0 225 | A AKRHET, BhRITH H. 5 | H. 10 [E3&7,153mfith 600,000

7w HE 2 # 112.0 206 | & AHET, BARTT H. 11 | H. 16 [&3&8,993mfth 736,000

X L 45.7 43 [FAE EH H. |19 | H. | 24 |/kB&38,24.6mfth 254,245

B 5 # X 801.0 2,003 3,856,034




OETHR—ER(FRH2IEEEFTOETHX) (Bif: FH)
| =T 242 | HBE L |SHEEN|SHERE)| B Wm0 & |[BEIEE|RTEE| 2128 | =z 2|
E N & 4& 2 GF =1 BT S. 50 | H. T |BiE5378.2mfitt 1,725,000
sh @7 dt EB CIN:IG7] S. 50 |H. 2 |E3&10,364.4mfth 2,036,000

B [it] SE [E BT S. 52 |H. 5 |E3#6,348.0mith 1,615,800

H & fE HEEEMN S. 55 |H. 5 |E31&7,087.0mfith 1,284,000

= R AARHET S. 52 |H. 6 |E3#S8,641.0mith 1,835,766

i s A S. 56 |H. 6 |E#2632.0mith 1,559,700

B £ B _LHT S. 53 |H. 7 |B3E9291.5mfith 1,464,900

2 el 2R S. 54 |H. 7 |B&7,7740mith 1,855,500

8 5 HER S. 63 |H. 7 |E3#1,991.8mith 833,600

sh ®I T EB BhRITTH H. H. 10 |BiE5574.4mith 2,162,000

A S : e B4 H. H. 11 [E3&1,685.0mfith 1,420,500

H € 8 HEEER H. H. 11 |23&10,896.0mfith 1,305,000

== i E_LE H. 10 [ H. 16 [21&6,339.0mfith 1,071,000

EH A K BRtH H. 8 [H. 17 [E31&3,694.0mfith 1,321,000

BhETALEREE2 CIN: 7] H. 12 [ H. 18 |E31E4,347.0mith 1,236,000

5 15 # X E3892,043.3mith 22,725,766

%”T; g ;’E EF B 7 I L2 fT H. 13 | H. 16 |£31&3,050.8mft: 671,000
. 2 e 383,050 8mit 671,000
oy o #h |TE =} 81.0 EEHT H. 4 | H. E3E1,996.0mith 1,750,000
B & = [FHAE + M H 87.0 BRt H. 5 | H. E3E4,207.0mith 1,697,000
= i 77.0 BEEM H. 6 |H. 10 [E#&1,331.0mith 1,479,000

EARLUEHE 528.4 EARET, HEH H. 8 |H. 14 |E316,160.0mfth 4,358,000

X i 173.0 KEZHT H. 10 | H. 15 |E3&E4,115.0mfth 1,390,000

Bt 5 i X 946.4 10,674,000

1%; i% E slsi% f;gﬁ AT 81.0 EEF H. 4 |H 10 |[Z52{%32.9hafts 1,339,000
ot 1 X 81.0 1,339,000
EMNEHRE BRER-%8 303.0 SRR BT - iR AT H. 6 |H. 13 |23E8,799mith 1,790,000
it 1 # X 303.0 1,790,000
HEZZHMERBEDRE ., BEEHR H. 15 | H. 20 |&3&500mfth 624,500
= 1 # X 624,500

ﬁ i&tﬁ%ﬁ? fli: BXF 103.7 CIN: G} H. 20 | H. 24 |7KE&EIL=1564mith 55,900
g 1 1 K 103.7 55,900
B2 (- HEK 5 CIN: 3] H. 24 [H. 24 [/KIEEIL=299.6mith 16,832
®R £ B H%® L BhEITH H. 26 |H. 26 |EAF—FIN=1= 4,999
T 1 5 K 36.0 shEiI T H. 26 | H. 27 |FA/KEIL=326.2m 25,428

g 3 i X 47,259
%Eﬁ{lﬁ%iﬁmg EIN [} 77.3 CIN:DG H. 23 | H. 23 |#E/KE&3,835mith 88,000
it 1 B K 773 88,000
EEXAERIEERE a 228 2t H. 24 | H. 24 |FA#E/KEEL=488m 11,400
2 H B EEBNLIE 119.2 Il H. 25 [H. 25 [FH/KEIL=720.2m 60,000
m 1k IE 20.2 CIN: G H. 25 [ H. 25 [#EKEBIL=770m 13,800

E R FE 2 36.8 BRTH H. 25 [ H. 25 [FA#E/KEEL=763m 16,000

at 4 #Hh K 199.0 101,200
EEEBERERLEE 7 119.2 E)ITH H. 26 | H. 26 |[/KEEIL=140.1m 10,000
£ I 54.0 BhEITT H. 26 [ H. 26 [iBK#EN=-1K 6,000

i} /N 22.1 CIN:IG7] H. 26 | H. 26 [{Bk#EN=1X 24,000

2R 5% 3 39.4 BRtHh H. 26 [ H. 26 [FE#E/KEEL=834m 34,000

&t 4 Hh K 2347 74,000
EmEEsekEK K £ ¥ 197.9 BABT H. 27 |H. 27 E;};gﬁgﬁ{@z 50,000
Fh-J)\H 23.8 Vel H. 27 | H. 27 |#¥KBBIL=1481.7m 30,000

Bt 2 B o 221.7 80,000




	完了地区一覧表

